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Full Marks : 100

Pass Marks : 30
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The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each 1x12 = 12
Q. No. 2 - 13 carry 2 marks each 2x12 = 24
Q. No. 14 - 23 carry 4 marks each 4x10 = 46
Q. No. 24 - 27 carry 6 marks eaclt 6%x4 = 24

Total = 100
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1. Give very short answers : 1x12=12
oS 53 Tes frat ¢
(n) What is the essence of Induction ? ' 1
IR e T (2
(b)) Does Analogy depend on Law of Causation ? 1
AT S S-<ee [{fEq eoRms F9 FEeE?
(c) What kind of proposition does Scientific Induction establish ? 1
(R SN (I &I o 2AfSD] T2
(d) ‘The ground of Induction is the result of Induction’
— Who made this statement ? 1
‘SR fSferEz wisaT Fe
— TR I (e 2
(¢) Name the hypothesis with the help of which the planet Neptune was
discovered. ’ 1
B oIaT GEE TS (Pp 227 SRR 1 (2
() How many instances are required for the Method of Agreement ?
1
S| AT A (20! GG AT =2
(§) Who is the Propounder of Scientific Realism ? 1
([ ATRN G (2
(h) Give an example of Primary Quality. 1
e Gt Trrgea w3l |
(i)  Give an example of Non-Moral action. 1
S ferm @bt Twiegel |
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() What is the ideal of Ethics ? 1
Sife RS G{Tﬁ“fﬁ??

(k) “Religion is morality touched with emotion”
— Who said this ? : ;
“aif a1 SEA-HAR© Howe]”

— FAFE I TR 2

()  What is meaning of the Latin word ‘Religare’ ? 1
(6w * ‘Religare’ I 9 52

2. Give the definition of Unscientific Induction. | 2
S-{RIRT e FAeest fAl |
' 3. What is ‘material cause’ ? Give an example. 1+1=2

ToivE 9 2 96 Swizge |

4.  Define ‘Plurality of Causes’ with a suitable example. 1+1=>

@} TS TizE AR i R s’ geat @ |

Or / =1
Mention two points of difference between Observation and Experiment.
. 2
S O <R 707 21y S 4 |
5. Why is Bthics called Normative Science ? )
R fa s [Reem 36 iRt =202
6. Give Mill's definition of the Method of Residue. 5

AR 2ol F7cw e TR sRCEE! |
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Or / 7231
Give a concrete example of the Joint Method of Agreement and Difference.
' 2

S SET-UOED! ATy 9ol A% uizael |

7. Mention any two conditions of a valid hypothesis. 2
@4 2R R 76! 5% SR 4

8. Define voluntary action. How many stages are there in a voluntary
action ? _ 1+1=2
oz feraia vicel @l | 9ot afte feaie 20! 39 A2

9. Give two points of differences between Primary Quality and Secondary
Quality. 2
= @l S CTESAT Aere ¥l 767 AT HIRHA |

10. Give an example of “hypothesis concerning Law’. 2
“fors e eiErd @t Twizs fra |

Or/ 7S

Define ‘working hypothesis’. )
i A’ TRE! 3|

11. Mention the ‘Canon of Elimination’ on which the Method of Difference is
established. )
e e efefe @Rt SeRRe @t SrEd

12. Mention two characteristics of Naive Realism. 2
e AIBAME 70! (AR SIRTeH |
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13.

14.

15.

16.

17

18.

1125
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Write two criticisms of Naive Realism. 2

e AFAMS 70! A0 SPRCGIT |

What is the theory of ‘pre-established harmony’ ? )
‘sifIfers XREN AW 52

Write four characteristics of Scientific Realism. 4
RIS ATAMS 515! (e F |

What are the four stages of hypothesis ? Discuss. 4
AT IR0 B [ (2 SCEnAl B |

Give four characteristics of Hegel’s Objective Idealism. 4

@R AP SRR BIG! (RS 6Kl |

Mention two advantages and two disadvantages of the Method of Residue.

2+2=4
oS AT 707 A S 757 Spifdt S I |
Or / 71231
What is the ‘Characteristic Imperfection’ of Method of Agreement ? How,
can the problem be overcome ? 2+2=4
Sl AT APOIS Ssjefer e @3 ShjfREl (S vE IR Al
Write any four characteristics of Analogy. 4

ARSI eI 510! (@R B

‘Positive and Negative conditions both taken together produce the effect -
— Explain the statement. 4

e Wi Afege THPRIR TReE @I Bl SR IRIAD =
— YN TG 4 |
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20.

21.

24

25.

“Esse Est Percipi” — Explain briefly the statement. G
“oifeg oy Mod. — PARR B Tl 4 |
Or / 23t

Define Berkeley’s Subjective Idealism. Is Berkeley a Solipsist ? 2+2=4
AR TIPS SIS S i | AR e SeeemArT AR & 2

Is Ethics a practical science ? Explain. 4
S TaRe A A [en 2062 TR 160

‘Religion is the source of Morality.’

— Explain the statement. 4
“sfq AFIE AT CLATE” — TR HIRT 1 |

Write four characteristics of Religion. 4
wsfq bIfe! @R &R
What is Scientific Induction ? What are the characteristics of Scientific
Induction ? 2+4=6
iR S I @IE? [EiA S @RER R

Or / 724l

State any three similarities and any three dissimilarities between Scientific
Induction and Unscientific Induction. 343=6

WWWWWWWWWW% T S
fofn! ty S

What is Simple Observation ? Describe its characteristics. 1+5=6

S DiF @2 W [RERERE Sl $9
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1+5=6
‘PR TR T | PRAT @elsre i ARSI TR G|
26. What is a ‘hypothesis’ ? Explain the nature of hypothesis. 1+5=6
5 DIP (@I 2 AT APlo PRI A |
Or / M1
What are the different kinds of hypothesis according to Stebbing ?
Discuss. ; 6
(BRI W & R[fon eeRER & 2 wicEna 39
o7 S.tat_e Mill’s canon of the ‘Method of Concomitant Variation’. Explain the
limitations of this Method. 2+4=6
‘ﬂgv{ﬁa@n gAY Il e o TR 9| G2 A SEReER
Or / 723}
Explain the Method of Difference with examples. 6
CARAPTR TR eleiistia iyt <41 |
X
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Or / 24!

Define ‘Cause’. Write the Qualitative and Quantitative marks of ‘Cause’.




